AMENDMENT OF SOLICITATION/MODIFICATION OF CONTRACT | L Contract D Code Page 1 Of 3

Firm Fixed Price

2. Amendment/M odification No. 3. Effective Date 4. Requisition/Pur chase Req No. 5. Project No. (If applicable)
P00002 20140CT29 SEE SCHEDULE
6. I ssued By Code | wseuzv | 7-Administered By (If other than Item 6) Code 23058
U.S. ARMY CONTRACTING COMMAND DCMA DETROIT
DANIEL A. DAVIDSON 35803 MOUND ROAD
WARREN, MICHIGAN 48397-5000 STERLING HEIGHTS MI 48310
HTTP: //CONTRACTING.TACOM.ARMY.MIL
EMAIL: DANIEL.A.DAVIDSON12.CIV@MAIL.MIL

8. Name And Address Of Contractor (No., Street, City, County, State and Zip Code) I:' 9A. Amendment Of Solicitation No.

UTICA BODY & ASSEMBLY, INC.
13231 23 MILE RD
SHELBY TOWNSHIP, MI 48315-2713

9B. Dated (See ltem 11)

10A. M aodification Of Contract/Order No.

W56HZV-14-P-0376
10B. Dated (See ltem 13)

Code 6ceU4 | Facility Code 2014JAN17

11. THISITEM ONLY APPLIESTO AMENDMENTSOF SOLICITATIONS

|:| The above number ed solicitation isamended as set forth in item 14. The hour and date specified for receipt of Offers

|:| is extended, |:| isnot extended.
Offer smust acknowledge r eceipt of thisamendment prior to the hour and date specified in the solicitation or asamended by one of the following methods:
(a) By completing items 8 and 15, and retur ning copies of the amendments: (b) By acknowledging r eceipt of thisamendment on each copy of the
offer submitted; or (c) By separate letter or telegram which includes areference to the solicitation and amendment numbers. FAILURE OF YOUR
ACKNOWLEDGMENT TO BE RECEIVED AT THE PLACE DESIGNATED FOR THE RECEIPT OF OFFERSPRIOR TO THE HOUR AND DATE
SPECIFIED MAY RESULT IN REJECTION OF YOUR OFFER. If by virtue of thisamendment you desir e to change an offer already submitted, such change
may be made by telegram or letter, provided each telegram or letter makesreference to the solicitation and this amendment, and isreceived prior to the opening
hour and date specified.

12. Accounting And Appropriation Data (I required)
NO CHANGE TO OBLIGATION DATA

13. THISITEM ONLY APPLIESTO MODIFICATIONSOF CONTRACTS/ORDERS
It Modifies The Contract/Order No. As Described In Item 14.

A. This Change Order is|ssued Pursuant To: The Changes Set Forth In Item 14 AreMadeln
The Contract/Order No. In Item 10A.

B. The Above Numbered Contract/Order |s M odified To Reflect The Administrative Changes (such as changesin paying office, appropriation data, etc.) Set
Forth In Item 14, Pursuant To The Authority of FAR 43.103(b).

C. This Supplemental Agreement IsEntered Into Pursuant To Authority Of:
FAR 43.103 (a)

D. Other (Specify type of modification and authority)

e |

E.IMPORTANT: Contractor |:| isnot, G isrequired to sign thisdocument and return copiesto the I ssuing Office.

14. Description Of Amendment/M odification (Organized by UCF section headings, including solicitation/contract subject matter wher e feasible.)

SEE SECOND PAGE FOR DESCRIPTION

Except as provided herein, all terms and conditions of the document referenced in item 9A or 10A, as her etofor e changed, remains unchanged and in full for ce and
effect.

15A. Name And Title Of Signer (Typeor print) 16A. Name And Title Of Contracting Officer (Typeor print)
TOD V. MILLER
TOD.V.MILLER.CIV@MAIL.MIL (586)282-7098

15B. Contractor /Offeror 15C. Date Signed 16B. United States Of America 16C. Date Signed
By /SIGNED/ 20140CT29
(Signatur e of person authorized to sign) (Signatur e of Contracting Officer)
NSN 7540-01-152-8070 30-105-02 STANDARD FORM 30 (REV. 10-83)

PREVIOUSEDITIONSUNUSABLE Prescribed by GSA FAR (48 CFR) 53.243



Reference No. of Document Being Continued Page 2 of 3

CONTINUATION SHEET
PIIN/SIIN W56HZV-14-P-0376 MOD/AMD P00002

Name of Offeror or Contractor: urica BoDY & ASSEMBLY, INC.

SECTION A - SUPPLEMENTAL INFORMATION

Buyer Name: DANIEL A. DAVIDSON

Buyer Office Symbol/Telephone Number: CCTA-ADT-T/(586)282-7296
Type of Contract: Firm Fixed Price

Kind of Contract: Supply Contracts and Priced Orders

Type of Business: Other Small Business Performing in U.S.
Surveillance Criticality Designator: B

Weapon System: Family of Med. Tac. Veh. (FMTV), 5 ton

*%*% End of Narrative AQ000 ***
The purpose of unilateral Modification P00002 to Contract W56HZV-14-P-0376 is to:
1) Incorporate approved No-Cost Request for Variance (RFV) UBA11680-01 into the contract requirements,
2) The drawing numbers affected are 12475605, 12475606 and 57K3398 and the approved changes are as follows:

A: FROM:
Screw Hex Cap 10-24 UNC 2B X .62, Part number B1821BH019C063N
TO:
Screw Hex Cap 1/4-20 UNC 2B X .75, Part number B1821BH25C075N

B: FROM:
Part number MS35338-43, Lock washer
TO:
Part number MS35338-44, Lock washer

C: FROM:
Drawing 12475605 (page 2 of 2, Sub item-103) B6 Drawing is 10- 24 UNC-2B Tap
TO:
1\4-20 UNC-2B Tap

D: FROM:
Drawing 12475606 (page 1 of 1) A7 Drawing area chart with FIND numbers charted out
TO:

FIND 7 & 10 are the effected numbers and the data has been updated

3) ECP TACW2291 will update all marked up drawings and is incorporated into Modification P00002 in Section J as Attachment 0002 - ECPs
and RFVs,

4) The Contractor shall maintain and provide the Government records adequate to support identification as to when the variance is first

applied.

5) The Contractor hereby releases the Government from any and all liability under this contract for further equitable adjustments

attributable to such facts or circumstances giving rise to Paragraph 1 and 2 above,

6) There are no other changes to Contract W56HZV-14-P-0376 and all terms and conditions remain unchanged.

**%* END OF NARRATIVE A0002 **x*



Reference No. of Document Being Continued

CONTINUATION SHEET
PIIN/SIIN W56HZV-14-P-0376 MOD/AMD P00002

Page 3 of 3

Name of Offeror or Contractor: urica BoDY & ASSEMBLY, INC.

SECTION J - LIST OF ATTACHMENTS

List of Number
Addenda Title Date of Pages

Transmitted By

Attachment 0001 APPROVED REQUEST FOR VARIANCE 20-0CT-2014 001

EMAIL



1. BATE PREPARED | 2. PROCURING ACTIVITY NUMBER (PAN):
REQUEST FOR VARIANCE | ®rmmyyyy) OMB No.
08SEP2014 3. RFV NUMBER: 0704-0188
(RFV) UBA11680-01

The public reporting burden for this collection of information is estimated to average 2 hours per response, including the time for reviewing instructions, searching existing data sources, gathering and
maintaining the data needed, and completing and reviewing the collection of information. Send comments regarding this burden estimate or any other aspact of this collection of information, including
suggestions for reducing the burden, to Department of Defense, Washington Headquarters Services, Executive Services Directorate, Information Management Division, 4800 Mark Center Drive,
Alexandria, VA 22350-3100 (0704-0188). Respondents should be aware that notwithstanding any other provision of law, no person shall be subject to any penalty for failing to comply with a collection
of information if it does not display a currently valid OMB control number. PLEASE DO NOT RETURN YOUR COMPLETED FORM TO THIS ADDRESS. RETURN COMPLETED FORM TO THE
GOVERNMENT ISSUING CONTRACTING OFFICER FOR THE CONTRACT/PROCURING ACTIVITY NUMBER LISTED IN ITEM 2 OF THIS FORM.

4. TITLE OF VARIANCE: Bolt Change

5. RFV PRIORITY- 6. VARIANCE PRE-OR POST-PRODUCTION: | 7. BASELINE AFFECTED:
D E - Emergency D U - Urgent R - Routine Pre-Producticn |:| Post-Production Functional D Allocated |:| Product
8. SYSTEM a. MODEL/TYPE DESIGNATION b. SYSTEM/CONFIGURATION ITEM NOMENCLATURE | ¢. END ITEM CAGE CODE-
INFORMATION | (6% M-76): FMTV (ex.. Rifle): Bumperette 6C6U4
9. AFFECTED ITEM NOMENCLATURE (ex: Bracket): | 10. PART NUMBER(S). OF AFFECTED ITEM(S):
Bumperette Bracket 12475605, 12475606 & & 57K3398
11.a. OTHER EXTERNAL SYSTEM AFFECTED: b. IF BLOCK 11.a. 1S YES, LIST OTHER SYSTEMS OR CONFIGURATION [TEMS AFFECTED:
|:| Yes No
12. CLASSIFICATION | a. DEFECT CLASSIFICATION: b. DEFECT NO.: c. DOCUMENT DEFINING DEFECT GLASS:

OF DEFECT(S) |:| Critical D Major Minor

13. DESCRIPTION OF VARIANCE:
Screw, Hex Cap 10-24 UNC x .63 are Not Available as a Standard Manufactured Screw Size.

14. NEED FOR VARIANCE:
Because the 10-24 Screw, Hex Cap Size is Not a Standard Size. Can Not Find A Fastener Manufacturer that Makes that Screw Type and Size.

15. CORRECTIVE ACTION TAKEN:

Modity To Screw Hex Cap 1/4-20 UNC 2B x .75 from Screw Hex Cap 10-24 UNC 2B x .62, Drawing 12475605-103 Modify from 10-24 UNC 2B
to 1/4-20 UNC 2B (1) Hole. 12475606 FIND Number 7 Change From Serew Hex Cap 10-24 UNC x .63 to Screw Hex Cap 1/4-20 UNC x .75 and
FIND Number 10 MS35338-43 Washer, Lock Spring Helical for 10-24 Screw to MS35338-44 Washer, Lock Spring Helical for 1/4-20 Screw

16. EFFECT ON PERFORMANCE, FUNCTION, RELIABILITY, DURABILITY, INTEGRATED LOGISTICS SUPPORT, INTERFACE OR SOF TWARE:
This Effect on Performance---Is Better THAN with NO Additional Cost.

17. RECURRING VARIANCE: 18. EFFECTIVITY (Quantity affected, Lot Number affected, Serial Numbers, Dates) :
[ ves No 16 Production Qtys
19. PER UNIT COST IMPACT: |20. TOTAL COST IMPACT: 21. EFFECT ON DELIVERY SCHEDULE IF REJECTED:
NO Cost Impact NO Cost Impact Can Not Full-Fill Contact if Revised Screw is Not Accepted
22. CONTRACT a. CONTRACTOR: b. CONTRACT NO. AND LINE ITEM:
INFORMATION |Utica Body & Assembly, Inc W56HZV-14-P-0376 MOD P0001 Line Item 0001AA
23. CONTRACTING | & NAME: b. TELEPHONE: c. E-MAIL:
OFFICER Michelle, Zucchetto 586-365-0526 Michelle.Zucchetto@dema.mil
24, ORIGINATOR | a. NAME: Bradley Paquin ?é£?D;3E§?i](§Il?d6f, City, State and ZIP Code):
= g:gEog'o%ngOR d. TELEPHONE: 586-726-4300 Shelby Tawnship
6C6U4 e. E-MAIL: bpaquiniauticaenterprises.com MI, 48315
25.a. SUBMITTING ACTIVITY: |b. NAME AND TITLE: c. AUTHORIZED SIGNATURE: |
(/7 A /5(:2/ G5 TP AL, TS e 7?7
ARG o, DS e STy / — )
BELOW TO BE COMPLETED BY THE APPROVING ACTIVITY 2 SRR SNk
26.a. RECOMMENDATIONS [ ] Approval [] Approval with Medification =] D|@r0\y /
b. NAME AND TITLE: 6;}__395,4_ c. DATE SIGNED d. SIGN

(DD-MMM-YYYY, : Ve
% ég%xbe e U8 }1/0Y oy Zuells Q Z 1:4@

r i

27.a. DISPOSITION (Configuration Change Authonty) |K| Apprcf(red [ |___| Approved with Modification |:| Dlsa[}aéved
[4

b. NAME AND TITLE c. DATE SIGNED d. SIGNATURE ___
Ed Khalil/PM-MTV CCB Chairman | 090000 KHALILEID.N.12305062 Bfeieersiriin o e
79 Do 20141020 110459 0400 -
DD FORM 1694, MAR 2013 Adobe Designer 8.0

DISTRIBUTION STATEMENT:




RFV:

Contract No.: W56HZV-14-P-0376 MOD P0001
Line ltem No.: 0001AA-Qty 16 EA

Rating: DOA4

Commodity: Parts, Kit Bumperett

NSN: 2540-01-489-5929

Del Date: 150CT2014

Drawing No’s Effected: 12475606, 12475605 & 57K3398
Part NR: 57K3398

Source: Utica Body & Assembly, Inc

Cage Code: 6C6U4

Originator: Bradly Paquin

Title of RFV: Bolt Change

Request for Modification:

B1821BH019C063N which is a Screw Hex Cap 10-24 UNC x .62 Cannot be procured
any Longer According to Fastenal, McMaster-Carr and Suburban Bolt. It is not a
Manufactured Standard the Smallest Standard Size Available is Screw Hex Cap 4-20
UNC .75 Which is Part Number B1821BH025C075N.

See Attached Fastenal Quote #22546 and Email

MS35338-43 will have to be Modified to MS35338-44 Also Because of the Change to
the Screw from 10-24 to 4-20

Lanyard is Not Effected it will Handel the 4’ Screw, Hole Size on the Lanyard Tab is
.260

Drawing 12475605 Page 2 of 2 Sub Item -103 Hole Callout B6 Drawing Area Is 10 - 24
UNC-2B Tap Modify to 2 - 20 UNC-2B Tap

Drawing 12475606 Page 1 of 1 A7 Drawing Area Has a Chart with FIND No’s Charted
Out; FIND 7 & 10 are the Effected No’s to be Changed.

See e Follo Wi ANECHE g REE LIRE DFESWINGS:
K2ATEBOS Page i8R

PRI PEEEK

STHG 8B RAget

ORI PGS BB




	SECTION A
	SECTION J



